=

oo

5 #7 g AL

@ x*-x-6=(x-3)(x+2)

@ -4 =(x+2)(x-2)

® & —x -2 =x(x+1)(x-2)
@ 18x% - 2x = 2x(3x - 1) (3x + 1)

@3x2—|—6x—|—3:(3x+1)(x+2)

©3x2+6x+3:3(x+1)2




o2 & SAFA o] ofd A2
@4a2 + 24ab + 9b? @ x%2-14x+49
2 1
® a2—§a+§ @ 64a® + 32ab + 4b?

® 4x% + 4xy + y?

B

a’x* + 2abx + b? = (ax £ b)?
@ 4a? + 24ab + 962 # (2a + 3b)?
@ x?-14x+49 = (x-7)?
2 1 1)*
® - Za+g=(a=3)
@ 64a® + 32ab + 4b* = (8a + 2b)?

® 4x* + dxy +)% = (2x +y)?




3. -4 S RIeEelshH?

D (a-2b)? @) (a +26) (a-20)
® (a+Db)(a—4b) @ (a+2)(b-2)
® (a+2b)*

a2 — 4b? = a? - (2b)*
= (a+2b) (a - 2b)




e Faka

@ 2x—1

@ x> +1

® 2x-2

W -x-12=(x-4)(x+3)
L=+ (x+3)=2x-1




A7

rlo

(3x+2) (2x-5) & ANt A= &

®6X2—11X+10 ®6x2_11x_7

® 6x%2+11x-10 @ 6x2-16x-10

(@)6x2 -11x-10

(FA]) = 6x2 — 11x - 10




o TH

@ x2+2x+1

(@)x2 + 3x

@ 2x% 4 3x

® x> +3x+1

® 2x2+2x+1

= x% + 3x

x(x+ 3)




Theg BEG W, 2 -y 4 3(x +) O FhS THH?

x+y= V3, x-y=15

@ V5+ V3 @ 5+ V10 ® Vi0+ V3
@VE+3v8  © VIB+4v3

B

=y +3(x+y) = (x+y)(x-y) +3(x+y)
= (x+y)(x—y+3)
= V3(V5+3)
= V15+ 33




8. the IoIH @ AB o PolS Fstelet,

D 7V3cm (@)8\/§cm ® 9v3cm
@ 10V3cm ® 11V3cm

AM = V82 —42 = \/4_:4\/§(cm)
. AB=2x4v3=8+3(cm)




9. oZ I™olA x o P Fohd?

@) V41 @ 3.2 ® V31 @ 3 ® 443

ON=0M, x=0B
AOMB oA OB = V52 + 42 = V41




10.

o= 132 9 0 of Widst,
OM = ON, /A = 70° ¢ 47}
& 119 Zoltt. /ABC 9] 2
717

® 60° @)50° ® 45° @ 35° ® 30°

oflt

AB = AC ©°]|B2 AABC L o] SHAZHE
. LABC = (180°-80°) +2=150°




11. O"E& B3 sx o 27]
S

© zx=110° @ sx=115°
@‘x=120° ® sx=122°

® /x=117°

(PAO = /PBO =90°
/x=360°—-180°—-60°=120°
. /x=120°




12.

th& 19 9] oABCD A AB ©] Zol&=?

@ 3.5cm @)4cm ® 3v2em

=
£
v
lfe
£
o
o
ok
v

9 IHAH AH o Yol WHT
atc=b+d
~3+6=5+AB,AB = 4cm




13.

9x* + Ax + 16 7} A FA] o] HEE g o, A O] 27

O 24 @ 12 @ =10 @ =12 @124

9x2 + Ax+ 16 = (3x £ 4)% = 9x? + 24x + 16
SLA=124




14. b= F Aot Z22E A0

@® 323+ x2—x=x(3x> +x-1)
@ —x*+25=(5+x)(5-x)

@ x> +8x+12=(x+2)(x+6)
@36x2+24xy+4y2:(6x—2y)2

® 6x2+5x+1=(2x+1)(3x+1)

@ 36x2 + 24xy + 4y? = 4(9x? + 6xy + ¥?)
=4(3x +y)°




© x+3 @ x-3

@ 2x-3 (@)x—4

Q x2—x—12=(x—4)(x+3)
© 2x%-5x—-12= (2x+3)(x—4)




16. 3x%+ (3a+16)x— 6= 152l SFH (x+b)(3x—2) 7} Er}. o] o,
A a+b o 22

@ -3 @ -1 @0 @ 2 ® 3

B ~
(x+b)(3x—2) =3x*> + (-2 + 3b)x - 2b °| B2

3x% + (=2 +3b)x — 2b = 3x* + (3a + 16)x — 6

—2b=-6, .b=3

-2+3b=3a+16, ..a=-3

La+b=0




17. ohg olxb40] G 147k -2 & 1], ThE 4 ¢

219
RO T B w

6x2—8x+m
D 2x-1 @ 2x+1 @3x—1
@ 3x+1 ® 4x-1

B

6x2 —8x +m = (2x — 2)(3x + k)
= 6x2 + (2k — 6)x — 2k
%—6=-8k=-1, 2=m=2 ot
6x2 —8x+2=2(3x-1)(2x-2)
webA oh2 @ Q14 3x— 1 olek.




4x*> +20x + 0O

D 20 (@)25 ® 30 @ 35 ® 40

B

4(x? 4 5x + a) oA C|ZFFY] A7t 1 & o, LA A4
Aure] Aol Aol Hlojof Al Aol HE= 5 o dHt

ol

DO

%
4
A=— 5 JYstHA

o A&
)
4
5 o 25
4(x*+5x+24)=4|x —|—5x+z

= 4x% 4 20x + 25 o[t}
et o = 25 ot




19.

X
[e]
'C?

xR

20 A

OEE'E/\

x+2)(x+4)(x+6)+16 = A2l Sh= Tgoltt. () Sl
|

=
=

x(x+2)(x+4)(x+6) + 16
=x(®) x (x +2)(@) + 16

= (x +6x)(®) + 16

(@) =A st

A2 +8A +16 = (A+4)* = (©)?

DO x+5 @ x+3
@x2+6x ® x2+6x+1

® x?4+4x+38

z

B

D x+6
@ x+4
® x> +6x+38
® x%> +6x+4




20. H= SAHSUFAZIE b 9§27

28X (30 4+ a) = 302 —a® = b

O 890 @ 892 @ 894 @896

® 898

28 X (30 +a) = 30% —a® = (30 — a)(30 + a)
30—a=28, a=2
b =30%-a® =302 -22 =896




21. o5 284 AB + € 0 9] A F°]1, ABLCD °lth. OM = MB
o]11, "tz Z0] 8cm & W, CD &) Zo]=?

@ 10cm @ 10V2cm @8 V3em
@ 12cm ® 12vV3cm

OM = MB = 4cm
AOCM 94 CM = 4 V3em
.. CD =2x4+3=28V3(cm)




22.

o B BE7] 27401 v - go] 718 54

E719] = 2719 dole?

=
=

st ©f

@ 4rn ® 64n ® 144rn

@ 36n

@ 1007

B

WA 52 x 2} ot
2 — (x—4)2 4 82

X =




o

Gl
75

ojn

of SHo=TE Z2 72l At
2HE &2 720 e @2 1 Zol7t 2.

[ 3N e)
e

B

le

o]

3

(o)
e

4

@

o
ol

B

12 grett.

o)




24, oS 139 YO olA LCAB =55° <L o, A
/ACB 9] 2719 £\
5D

® 50° @ 55° ® 60° @ 65° ®)70°

SHA @oll W™ 4o o7t geEm
AC =BC, W2tA aABC + o584
Sx=180°-55°%x2="70°




25.

® 3vV3cm @ 4vV3cm
@ 3+v5cm @Gﬁcm

® 6vV5cm

BD = V62 - 32 = 3V3(cm)
. AB=2BD =3V3x2=6V3(cm)




(1) AQ = AR = 5 (cm)
CQ=CP=9-5=4 (cm)
~ x=BP=11-4=7 (cm)

(2) AC = 6cmO| 22
(12-x)+(14-x)=7

26 —2x =17

—2x=-19
19

. X= —cm

2







28.

oS oA 5.0ptAB = 20| Zo

pa
7} 16cm ¢ Q2] dHoltl AB = 8cm A/—FI\B
0|1l CD 9] A4l o] THE Ad D
o, CD 9] Zdo]&?

@]

@ (2- V2)em @ (25 -4)cm ® 3cm
@(8—4«@)cm ® (6+2V3)em

S8 ~
Qo) £4€ 0 2 o} A0 — .
8cm
AB =8cm ©]EZ AD = 4cm
DO = V82 - 42 = 43(cm)
~CD=(8-4V3)cm




29. o5 2T Zol A5 Zol7t 30 A ¥
O o4 ABLCM , CM = 6 ¢ o, & AB

o ol

O 12 @ 16 @24 @ 34 ® 36

S5 ~
OB=150M=9°|2&

AOBM ©|A BM = V152 - 92 = 12
BM=AMO|E2 AB=2x12=24
o|ct.




30. "== 1He#

olg Fahw?

® 487 cm? @497 cm? ® 50m cm?

r2 = (2\/6)24— (r-2)?

rP=24+r>—4r+4

4r = 28

r=17 (cm)

w2bA] o] Wol= nx 72 = 49x (cm?) o]tt.




